Time allowed - Three Hours

Maximum Marks : 80

Part - A

(Marks : 10)
Answer all ten questions (20 words each).
Each question carries equal marks.
Part - B (Marks : 10)

Answer all five

questions (50 words each).
Each questi

On carries equal marks.

Part - C (Marks : 60)

PTO



Part - A

/ Define the word “FORM” in Visual Basic.

2./ Full from of MDI.

¥ 4

4

/ Write Data Types available in Visual Basic.

/

4. Write the alternative control structure of the “If...

</ Then... Elself’
f  What Combo Box doﬁ ?
\6./ Which event is used to identify 'the'pressed key?
/7/ Write syntax for function Input Box.

/ Explain the concept of Control Array.

/ What is the purpose of “Tab Index” ?

400 2 D-2479



)e./ " Define the term “Run-time errors’

Part - B

}1./ Explain the concept of IDE.

}2./ How the menu are created in Visual Basic 7

. | -
AN
/13/ Differentiate between Picture Box and Image ?@

Box.

%xplain the controis available for File System.

%ow the debugging can be used while program
IS under execution ?
Part - C

/16/. (@) Create a form which accepts the values for
name, age, address, email and mobile
number and create a button “Save”. Write
procedures to store above values into

customer table of your database.

D-2479 3 PTO
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M.Sc. (Previous) Examination, 2012
INFORMATION TECHNOLOGY
MIT-101
First Paper

(Computer Organization)
Time allowed : Three Hours

Maximum Marks : 80

Part - A (Marks : 10)

Answer all ten questions (20 words each).
- Each question carries equal marks.

Part - B ~ - (Marks : 10)

Answer all five questions (50 words each).
Each question carries equal marks.

Part - C (Marks : 60)

Answer all three questions (400 words each).
Each question carries equal marks.

PTO




/ What is a bus and why it is used.

7 Define decoder.
y What 1S microinstruction.

7/ Develop a K-Map for :

¢ = (ABCD) =2 (0,3,5,7,9,11,13,15)

400 2

D-24



1/List any five

MICroprocessor.
D-2475

Instructions



15/ What is interrupt ? When can it occurs and
explain its types.

Part - C

\17/( Explain the difference between
combinational and sequential logic.

(b)/ Show the realization of D-FF form a JKFF
and explain.

(¢) Design a digital circuit that perform the
four logic operations of exclusive-OR,
exclusive-NOR, NOR and Nand. Use two

selection variabies.

OR

17. (a) An n-bit digital multiplexor is a universal
logic circuit. Explain.

(b) Design a 4-bit shift register with the
following capabilities using D flip-flops.

(i) Serial in Parallel out

(i) Parallel in - Parallel out.

400 4 D-2475



Compare and contrast

micro-operation with
MiCroinstruction with an

example.

OR

(b) Write a pProgram in assemb|

y language to
Concatenate two strings.

2y (@) Describe the following addressing modes
with the help of an example :

() Index addressing mode.

()  Relative addressing mode.

(i) Indirect addressing mode.

(b) Can g2 machine have zero address

Instruction ? |f yes, then explain ijts
functioning with an example.

D-2475
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OR

51. What is synchronous counter ? HOW it is
different from ripple counter ? Where are ripple
counters used ? Draw the logiC diagram for a

3-bit ripple counter.

sk kR K
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M.Sc. (Previous) Examination, 2012

INFORMATION TECHNOLOGY

MIT-106
Sixth Paper
(Web Technology)

Time allowed : Three Hours

Maximum Marks : 80
Part - A (Marks : 10)_

Answer all ten questions (20 words each).
Each question carries equal marks.

Part - B (Marks : 10)

Answer all five questions (50 words each).
Each question carries equal marks.

Part - C (Marks : 60)

Answer all three questions (400 words each).
Each question carries equal marks.

PTO



Part - A

/ Define E-Commerce.

y What do you mean by firewall 7

// Give uses.of DHTML.

/ What do you mean by Mobile Computing ?

/ Define exception handling.

\7 What do you understand by Gopher andTe|net.

/7./ What is web server ?

Give the operations that can be performed on an
image. '

What do you mean by client-server network

security.

400 2 D-2480



/1{ Define a tag with example.

Part - B

y( Write a HTML code to display frames of different
- sizes (Three frames). -

}/2./ Explain local and remote applet applications.

){ Give various ways how you can maintain
"' network security.

/14. Explain E-Commerce framework.

15/ Discuss the life cycle of applet.

Part - C

16. Give various features of Java Script language ?
How server side programming is useful ?

OR

/{mlain Electronic and Media Convergence. Also
give difference between Traditional and

electronic Business applications.

D-2480 3 PTO



1. Define applets. How do you create and pass
parameters to applets. Give example.
OR

- Define DHTML. Expalin its various functionalities.
Also explain only DHTML is better than HTML.

y/ How two web pages can be linked ? Write an
HTML code for showing the use of multimedia

applications.
OR

What are different types of transmission
orotocols. Write a note on threading and multi-

threading.

¢ 3% 3k 3K
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M.Sc. (Previous) Examination, 2012

JNEDBMDITIDY TECHYD) DCX

INFORMATION TECHNOLOGY
MIT-107
Seventh Paper
(Data Communication and Networks)

Time allowed : Three Hours

Maximum Marks : 80

Part - A (Marks : 10)

Answer all ten questions (20 words each).
Each question carries equal marks.

Part - B (Marks : 10)

Answer all five questions (50 words each).
Each question carries equal marks.

Part - C (Marks : 60)

Answer all three questions (400 words each).
Each question carries equal marks.

PTO



Part - A
/ Define the Protocol.

/2./ Define cyclic redundancy.

‘/3./ What is the use of Link Control Protogo| 2

/ What is Multiplexing ?

}/ What is DTE ?

ﬁ Name the ATM Layers ?
"

/ 7/ How many types of errors in Multiplexing,

/3./ What is cable Modem 2

/9. What is time domain ?

-/10./What s Encoding ?

Part - B

yz Give the HDLC frame format and explain the bit
stuffing scheme is used. Also give the control
field format of the different type frameg ysed.

/12./ What are the advantage of digital COMMunication
; over Analog Communication ?
400

2 D-2481



/1/3./ What is the difference between simple and full
duplex transmission.

14. What are the Major difference between go-back-n
/  and select-repeat protocol.

15. Change the Multicast IP address Z30.43.14.7 to
an Ethernet Multicast Physical Address. |

1/5-” (a)

(b)

@
®)

\ W

_, /_1 1. (a)

D-2481

Part - C

Draw and discuss the IP datagram frame

format. Discuss in detail the various field
what is subnetting.

Show by calculations how many host per

network each IP Address class A, B and
C can have.

OR

What are the different type of error
detection method. Explain CRC error

detection technique using polynomial
X* + X% + 1 and data 1110011,

Describe the stop and wait flow control
technique.
Explain the following term with example.
() Multicast addressing.
()  Unicast addressing.
(ilf) Anycast addressing.

3 | PTO



400

(b)

Explain different type of header supported
by IPV6.

OR

Explain ATM cell architecture and
transmission of ATM cell with suitable

diagram.

Explain the terminology of virtual circuit
approach with suitable diagram.

Briefly describe the different type of

copper cable media used in physical layers
of typical Ethernet LAN.

What are the service catagories in ATM
Networks briefly describe.

OR

Differentiate the periodic and aperiodic
signals.

Explain in brief :

() EIA232
(i) x-25

E

4 D-2481
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M.Sc. (Previous) Examination, 2012

INFORMATION TECHNOLOGY
MIT-108
Eighth Paper
(Data Warehousing and Mining)

Time allowed : Three Hours

Maximum Marks : 80

Part - A (Marks : 10)

Answer all ten questions (20 words each).
Each question carries equal marks.

Part - B (Marks : 10)

Answer all five questions (50 words each).
Each question carries equal marks.

Part - C (Marks : 60)

Answer all three questions (400 words each).
Each question carries equal marks.

PTO



Part - A
1// What is the data warehouse ?

/ Write uses of data warehouse.

- What do you mean. by data in flow process ?

What is the Star Flake Schema ?
What is the hardware partioning ?
What is the Data Marts-‘?

What is the Capacity Planning ?

What is the Data Mining ?

What is the backup recovery ?

SN R

What do you mean by Data Mining approaches?

400 2 D-2482



Part - B

/1./ Discuss the data warehouse delivery methods.

/12./ Discuss the function of Local Managers.

13" What do you mean by Query Generations ?

y./Discuss the backup strategies of Data
Warehousing.

Explain concepts of Technical and Social context
of Data Mining.

a) Explain the backup an Query management
Process.

Part - C

(b)—~What do you mean by Database Schema?
Explain the process of designing star flake
schema of multi dimentional.

OR

(a) Explain the data Transformation and load in
reference of disigning data Marts.

D-2482 3 PTO



(b) Explain the Meta data and tools of Data
Warehouse process.

/4 (@) Explain the capacity planning of Data
Warehouse in detall.

(b) What do you mean by Testing database
and its applications ? Explain.

OR

Discuss the different Data Mining Methodologies D
in detail. Lu/@\ e
AL
/16‘ (@) Define the service agreement at ggera_tions

of Warehouse.

. ——— T

Discuss the features of testing Operational
Environment.

OR

Explain the followings :
(@) Building good Effective Models.

(b) Data Warehouse Planning Stages.

KK KK
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M.Sc. (Previous) Examination, 2012
INFORMATION TECHNOLOGY
MIT-104
Fourth Paper

Maximum Marks : 80

Part - A (Marks : 10)

Answer all ten questions (20 words each).
Each question carries equal marks.

Part - B (Marks : 10)

Answer all five questions (50 words each).
Each question carries equal marks.

Part - C (Marks : 60)

Answer all three questions (400 words each).
Each question carries equal marks.

PTO






Part - B

If A, B and C are three sets, then prove that

AXBuUC)=(AXB)uU(AXC) 2

1\2/ Show that the proposition (P A Q) A (~P) isa
H contradiction. 2

%ight boys and five girls constitute a group. In
how many ways seven of them can be selected

+ the selections always have at least three boys
and two girls 7 2

1 }/ In the Boolean algebra B, for all a, b € B

@a+b)l=ab

15. Emd the path length of a Binary Tree with 17
" vertices and four levels of the following figure.

A Level 0 2
Level 1
' N\
Level 2 ¥
Vgt
Level 3 K &4
Level 4 |
3 PTO

D-2478



Part - C

16. (a) Prepare a truth table for the following
switching circuit. Also find the equivalent

simplified circuit. 10
— 3 - > g -
x| Y Zl
| ~ | d "o
o | X Y! Z W
4 ’ o -
X Y! Z
* - = AT
X! Y Z

(b) Test the validity of the following arguments:
The earth is spherical Implies that the

moon is speherical. The earth IS not

5 spherical. There fore the mooon is not
=1 spherical. 10
/2 | .

i OR

o .
y(a) Find the shortest path and its length
between the vertices a and z in the

a‘ following weighted diagraph : 10
> (5* B 6
)

D-2478



OR

(b) Generate ‘NAND’ function, using only ‘NOR’
gates.

\y./ (@) If a, b and c are any three arbitrary
elements of a Boolean alegebra B, then

prove that :
i) @+b)@ +c)(b+c) =ac+ a'b + bc

(i) (@+b) (@ +c)=ac+ab 5+ 5

9/ Find the minimal spanning trees for the
weighted graph shown in the following

figure using Prim’s alogrithm. 10
A

19. (a) Let H = {0, 3, 6} be a subgroup of Z,
under addition. Then find cosets of H In Zg.

10

D-2478 5 PTO



(b) Show that mapping f form a multiplicative
~group of non zero complex numbers Co in
to Co given by f(x) = x* is a

homomorphism. Determine Kerf. 10

2}./(3) Let A = {1,2,3,4,5} then draw the Hase

diagram of the partial order relation R

whose matirx representation is : 10
r—l wiliy 8 & o
L1 1 1 1 1
| O ideidy A 1
O'c0:' 1 bt
MFI =9 0' 0 07 1
0 0 0 0 1



21.

(a)

(b)
(1)
(i)

OR

If h (an integer) is the height of a balanced
complete binary tree on n vertices, then
prove that :

_ n+1\ -
h = log, B 10

For the sets A, B, C and D, prove that
AX(BuUC)=(AXB)uU(AXC)
(AXB)u(CXD)=(AuC)X(BuD)

5+5
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M.Sc. (Previous) Examination, 2012

INFORMATION TECHNOLOGY
MIT-102
(Data Structure and Algorithm)

o Time allowed : Three Hours

Maximum Marks : 80

Part - A (Marks : 10)

Answer all ten questions (20 words each).
Each question carries equal marks.

Part - B (Marks : 10)

Answer all five questions (50 words each).
Each question carries equal marks.

Part - C (Marks : 60)

Answer all three questions (400 words each).
Each question carries equal marks.

PTO




9.ve-a _ C

¢ W Jsplo jo sal)-g
e Buneaso/Bunonisuos 10} s8N 8y} ase jeym

¢(2dAl ejep 1oeNSqe Ag puejsIapun nok op Jeym

)
v

_ | & 181 payuyl
Buisn pajussaida, °Q Ued |ejwoufjod B moH

)
.camﬂ% m@ L&. t__

Xurew Aousoelpe ay; ajum @ %U \

S

¢ 18I pa)ul aejnouio
Ul 8pou lspesH jo aoueoyubis 9y} SI yeym

_ /
S|qeleA onels Jo ajos ayy ure|dx3 2

&( 1) 20j[ed pue () oojew SVUBIBYIP 8u} SI Jeyp \

V - ded



d—a
™

Old e b 9.v2-a

(q-eg) A+xg)=3 : uoissaldxa

oyl O} W_UCOmeh._OU yoiym aal] 9yl melq 51

Aeue | buisn
yoels ¢ juswsajdwi o} wiylioble ayy umop 8N ¥

wnmnon+-ln*n\. |
XI1ISO4 OuI uoissaidxa xyaid uanib Em:_m>m_\ﬁ

‘99J] B JO uoiejuasaidal
fiowaw pa)ull pue [enusnbas 8y} ssnosid “c}

‘uoisinoal buisn _
jequinu 199BUBAAY 8Y} pul 0} uopdun} 3 € S \3\

g - Jed
;, ydeib pue aai} m/q 20udiafip Sui S1 JeUM \oﬂ

) 581 | Areuig e 10} ©p0O EEo::m M), BY} SM %\‘.
o~

]

;, Keire 19A0 11| paxull jo sijsuaq 8yl ale Jeup\



9.ve-a

mw
@IVWY (®
L

0] ‘ydelib |
UsAIb ayy 1oy youess jsuiy yidaQ ue|dxg (e \

Ol ‘'Bwes S| Jaquinu N jo indul
Ue 10} ased abeiane pue ased jsiom ‘osed G
1Seq 8soym wypuobre Bumios Aue slupA  AQ)

O} ., ... -
¥OINb Jo Ajixeidwod ases jsoim auy) =NETg \&

d0

0l '98l] yoieag Aleuig e wol spoul
Jejnoied e elelep 0} wylobie ue ajpn ()

O} . AdN1T
3 dIHDO 8V - IWSHIAVHL H3AHO3IHd
AMAamn

"3 Y1 HOD g - TvSHIAVHL HIAHONI
‘ojul Buimojjoy Buisn eai) Areuig j1onisuon () -9|

J - Ued



Old 9.ve-a

S
© HO QZ,}.@M,%

02 (Jesn 8y} woJij USye} q PINoYs uwnjod
DUB MOJ JO 9ZIS 8yl) 1oulod 8y 0} Asowsw
Buijeoojje 410} uoljedojje flowaw OlweuAp
as( *( d==Da 1oj) J81uI0d B|GNOP Buisn Aeie Q-2
B JO SJUSWSald® 8y} 8Jo}s 0} uonpduny O E S}l ‘Bl

Ol ‘Buls pelosiod
oyl uinial pinoys uonouny syl ‘Bulils
ay) ul seoeds Jo 8doueInddeE |[B 319|9p pue
uswnbie ue se Buls Jajeseyd e SIS0
1ey} uoilounj e alluM jouiod e Buisn  (Q)

0l ___.cm_Eo Buiseasosp ul Si Buos)
anbiuyoa] HOS YOIND 40} wobre ue s (e)

d0

Ol (Asessadau
i ‘welbelp esn) "uolnejou (uo Big) pue

(efowo) 13 ‘(e1ey)) o buowe Bm:cmhmt_g



(a) Explain the representation of the given
graph using linked list. 10

(b) What is priority queue ? Explain the array

and linked representation of priority queue.
10

sk sk 3K KK
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